I I
Eeod e \\,

%I]:}Ygf-f_ _I:Fl 2018'2019 EIEJ: H

S=EREEEN (7))

R ﬁ&ﬁﬁi

1, E',%Dﬁaﬂpiﬂxel’?,ﬁsinx:% Mg :Vxe R BEx* +x+1> 0 LB[HTHES ()

AR P BEEGH BAsdR " WPAY" EHEBH

Caplt " PNG" BEGH D& "WV q" EEpH

2. CHREs#E, M = {« \f

A(1,2)

B[0, 2]

<1}, N ={yly=+va— 1}, N N CrM =(

ch

pJ1,

2]

3. REH S (x)=cos(VBx+p)  HbEEQ BE-T <0 <0 . EEH
g(x) = f(x)+ f'(x) (e f'(x) BEES(x) SEORBRE, W P ETF (

w
A——

-
3

1 i
4. lim —[sin — + sin
n

n—oc 1

1
A.[ sin xdx
Jo

5. RERE /(0 2
Al

6. BHltan(w

1
A—
5

1
—a)=—=, 1

5
B.———rx
)

27?

n

1
B./ gin
Jo

B.2

-+ sin (

xdx

cos(§ + @) +cosa

T
C——

6

l)

C.3

AIER(

2’

2cosa — sina

C—

. sin i
i, 0

TEXFER LRIBTEREL, Hx>0RF, f()=¢ +x-3 , W/ (x) NERMNEA( )

)

2r

D.————

D.4

D1

3

|SRERRDRIFZE |, FIEA(

™
o
0

sin &

x

dz

)

)

)

f |1-T£’\'II'§ l-:—f. \ _d_
7. ERES (x) = _ S | flx )+ ldeBERS ()
Wi—Fafexsa Tt T
-5 ~ 4 ¢ - H 3
PNESELD p/t, B+V3 C T3t p. T 53
2 3 3 2 3 2 2 3

8. 1FE f(x) = sin 2x WEGEETEE 00 < p < g) MARISERIRR ¢ (X) WEE , &

s /() -gx)|=2mx, , v, , By, -x, min:% JMP= ()
el B.” cr p. %~
12 3 4 6

9. REES (1) = ¢’ + 2 - 2gl2) = Inx+2? -3 . BELEabFR/(0) = 0.900) =0, W ( )
Agla) <0< f(b) Bf(D) <0<ygla) cO<gla)<f(b) D.S(h) < gla) <0

T sy,
x

10, BMEVIEARNERy = f (CSsEchy = f (v), 4 # 08, [/ (+)

=, %f{%),b: —2f(-2), ¢ — (m—) (1 11—) a, b, HIANERE ()

Aa <b<e BHh<e<a Ce<a<hb Da<c<b

11. 84, b <(0,2], =&/ («) = / (esint —2bcost) dt T{* *}_I:jji"' FRENAIHIRE ()
J1

1 1 3
A— B— C— D.1
4 2 4
2 2
Bt 2 (x) = log, — (x> 0) , XFH5¢()] +m|g(x) + 2m +3 = VE=ATRSEH

fi# , MscEy ™ pOEESBES ()

A. (0,4 = 2JT)U (4 + 247, +0) B.(4-27,4+2J7)

3 2 3 4
A== D.(-=,——
CE3) (=3:731

BQ®E H4RW I



I
= HEEEE

13, &y = /()R L@t , B f(nr)> f(-m) , WLHM WEVESERZ .

14, BEES (mef (r +4) =2 + 2, %4f(z) = 1, 2e0EN

15, LUF&ie

@Za < 08, (a )% =a%;

@Va™ = |al;

sy = (v — 2)7 — (3r — 7) wENER(2, +00) ;

@&100° =5,10° = 2
N2 + b = 1, EhFRLECHNECH

16, ERAML , HNBRENAUNE25% | AETEYNT— N, DUBREMLRI20%
SHETRRIREEMN 25 VMRS | MBI AR EIXF RIS SN EY 2 Bk
FERER

(%).’Iﬁ—%,, g

1
| 2(a>0,8a# 1) MEHER , NSSHOAIE
0g, T, > 5

17, g f(v) = {

BeER

T
18. BaEE/ () = sin2xsin p — cos 2(x +§)0()s;,9(0<g0<7r)5'\]g§‘11

1
a(g é),J%H%J:%;ﬁEﬂESF@GAEMKF EEEEy = g(v)wEs , NEEg(x)

T 27
E[*Z —]J:E’J%ﬂLi“I:IEU

I EE)®E

t4

b=

\|

19, E&# S (r) = cos 2z + asin m:mj(— —)zE,nz@;fsz NafEUESEER

1 1
BHEN ' — B <r<m+ 5 (EhmiazEsy) |, WmIYEscET iz

g, oz}, Bz} = mamEm e TRETERESS (1) = ¢ — {1} aomiesE -

omgy = f()wEEen {Eﬁtx%(—%, %] ;
QEEY j(m)m{m%z
orgy = f(r)Rs®
oz = f(v)E—= ;]t,—EiE. 58
MERERISERE (HEFE)
HAR 4T |



